	Project Number and Name	07(BD)				
		25 th Terr	ace, O'C	•		
	Change Order No	1		Date	3/25/2008	
	Contractor Name & Address	Kings Cor	strructio	n		
		P.O. Box				•
		Oskaloosa	a, Ks. 66	8066		•
the o	ollowing changes are being made	e to the refe	erenced (construction	contract:that ar	
Item	1				, , ,	Net Change in Contract
No.	Description		Units	Unit Cost		Price (\$)
79	8" SSP (SDR-26)		L.F	\$31.00	113	\$3,503.00
80_	8" SSP (SDR-35)		L.F	\$30.00	113	\$3,390.00
81	Std. 4" Dia. M.H. (6' De[EA	\$2,000.00	4	\$8,000.00
82_	Extra Depth M.H. (4' Dia. Great		V.F	\$100.00	28	\$2,800.00
_83	8" (SDR-26) M.H Stub		L.F	\$30.00	20	\$600.00
84	8" (SDR-35) M.H Stub)	L.F	\$25.00	10	\$250.00
85	8" Water Tight Cap		EA	\$100.00	6	\$600.00
_86	Flowable Fill		L.S	\$8,000.00	1	\$8,000.00
87	Additional Construction Sta	aking	L.S	\$500.00	1	\$500.00
Chan Item No.	ges to original unit price bid items Description	s are as fol	lows: Units	Unit Cost	Quantity (+/-)	Net Change in Contract Price (\$)
	Original Contract Amount					\$1,457,591.30
	Net Change by Previous Change					\$0.00
	Net Change by This Change Ord	der				\$27,643.00
	New Contract Amount					\$1,485,234.30
	Original Contract Time or Comp	letion Date				110
	Net Change by Previous Change					0
	Net Change by This Change Or	• •				0
	New Contract Time or Completic					110
	Approved By:					
					Date:	
	Contractor					
					Date:	
	Asst Dir of Public Works	_ 				

	Project Number and Name	12-CP2	2-407(BD)			
	1	25 th T	errace, O'	• -		
	Change Order No	2	_	Date	3/25/2008	· •
	Contractor Name & Address	Kings C	Constrruct	ion		
		P.O. Bo	x 188			•
		Oskalo	osa, Ks. (66066		
						•
			_			
	ollowing changes are being mad riginal unit price bid items:	e to the r	eterenced	d construction	on contract:that	are not included in
Item		. <u> </u>	T			Net Change in Contract
No.	Description		Units	Unit Cost	Quantity (+/-)	Price (\$)
	3000, 1000				, ,	(4)
Chan	ges to original unit price bid item	s are as	follows:			
Item						Net Change in Contract
No.	Description		Units	Unit Cost	Quantity (+/-)	Price (\$)
22	2" Asphaltic Concrete Surface Cour	se	Tons	\$46.25	-49.5	-\$2,289.38
	6" Asphalt Base Course		Tons	\$43.00		-\$7,568.00
	Combined Curb and Gutter		LF	\$13.85		-\$2,396.05
	5x4 Concrete Sidewalk		S.Y	\$25.00		-\$1,922.25
	Fly Ash Treated Subgrade		S.Y	\$3.85		-\$2,146.14
68	8" Ductile Iron Pipe Waterline and F	ittings	L.F	\$29.00	-180	-\$5,220.00
	Original Contract Amount					\$1,457,591.30
	Net Change by Previous Chang	e Order(s	s)			\$27,643.00
,	Net Change by This Change Or	,	5,			-\$21,541.82
	New Contract Amount					\$1,463,692.48
	Original Contract Time or Comp				•	110
	Net Change by Previous Chang		s)			0
	Net Change by This Change Or					0
	New Contract Time or Completic	on Date				110
	Approved By:					
	•				Date:	
	Contractor		-			
					- .	
	A - A Pile of Pile III IAI		_		Date:	
	Asst Dir of Public Works					

Asst Dir of Public Works

	Project Number and Name	12-CP2	-407(BD)				
		25 th Te	rrace, O'	•			
	Change Order No	3	•				
	Contractor Name & Address		onstrructi	on	÷ .		
		P.O. Bo	x 188				
		Oskaloc	sa, Ks. 6	6066			
					M - M - M - M - M - M - M - M - M - M -		
				٠			
	ollowing changes are being maderiginal unit price bid items:	e to the re	eferenced	l construction	on contrac	t:that	are not included in
Item			•				Net Change in Contract
No.	Description		Units	Unit Cost	Quantity	(+/-)	Price (\$)
88	36" CMP		L.F	\$80.00	20	· · · · · · · · · · · · · · · · · · ·	\$1,600.00
89	48"CMP		L.F	\$135.00	44		\$5,940.00
Chan	ges to original unit price bid item	s are as f	ollows:				
Item	·		*				Net Change in Contract
No.	Description		Units	Unit Cost	Quantity	(+/-)	Price (\$)
	Unclassified Excavation (CF)		C.Y	\$5.00		750	\$3,750.00
51	Erosion Control Blankets		S.Y	\$6.50		4088	\$26,572.00
		-a-+					\$0.00
	Original Contract Amount Net Change by Previous Change Net Change by This Change Ore New Contract Amount		\$1,457,591.30 \$6,101.18 \$37,862.00 \$1,501,554.48				
	Original Contract Time or Completion Date Net Change by Previous Change Order(s) Net Change by This Change Order New Contract Time or Completion Date						110 0 0 110
	Approved By:				[Date:	
	Contractor						
					ſ	Date:	

Project Number and Name 12-CP2-407(BD)						
		25 th Te	rrace, O'	•		
	Change Order No	4		Date	4/30/2008	
	Contractor Name & Address	Kings Co	onstrructi	ion		
		P.O. Box				•
		Oskaloos	sa, Ks. 🦸	6066		•
	ollowing changes are being mad riginal unit price bid items:	e to the re	ferenced	d construction	on contract:that	are not included in
Item						Net Change in Contract
No.	Description		Units	Unit Cost	Quantity (+/-)	Price (\$)
					, , , ,	\$0.00
						\$0.00
					,	
Item No.	ges to original unit price bid item Description 4" Edge Drain	s are as it	Units L.F	Unit Cost \$10.25	Quantity (+/-) 995	Net Change in Contract Price (\$) \$10,198.75
	Original Contract Amount Net Change by Previous Change Net Change by This Change Ore New Contract Amount Original Contract Time or Comp Net Change by Previous Change Net Change by This Change Ore New Contract Time or Completic Approved By:	der letion Date e Order(s) der	e		Date:	\$1,457,591.30 \$43,963.18 \$10,198.75 \$1,511,753.23 110 0 0
	Contractor					
	Asst Dir of Public Works					

Project Number and Name 12-CP2-407(BD)						
		25 th Tei	rrace, O'C	- -		
	Change Order No	5	-	Date	7/29/2008	-
	Contractor Name & Address	Kings Co	onstrructio	on		
		P.O. Box				<u>.</u>
		Oskaloos	sa, Ks. 6	6066		-
	ollowing changes are being mad	e to the re	ferenced	construction	n contract:that a	re not included in
,			ı	1		I N - 1 O - 1 - 1
Item No.	Description		Units	Unit Cost	Quantity (+/-)	Net Change in Contract Price (\$)
NO.	Steel Plates Over Gas Li	ne	L.S	\$4,200.00	1	\$4,200.00
	Gleer rates over dus Li	i i c	<u> </u>	ψ4,200.00	· · · · · · · · · · · · · · · · · · ·	\$0.00
						40.00
Chan Item No.	ges to original unit price bid item Description	s are as fo	ollows: Units	Unit Cost	Quantity (+/-)	Net Change in Contract Price (\$)
	·					
	Original Contract Amount Net Change by Previous Change Net Change by This Change Or New Contract Amount		,			\$1,457,591.30 \$54,161.93 \$4,200.00 \$1,515,953.23
	Original Contract Time or Comp Net Change by Previous Change Net Change by This Change Ord New Contract Time or Completic	e Order(s) der				110 0 0 110
	Approved By:				Data	
	Contractor		•	•	Date:	
	Contractor				Date:	

Asst Dir of Public Works

	Project Number and Name	107(BD)	-			
	•			onnell Rd To		
	Change Order No	6		Date	10/15/2008	
	Contractor Name & Address	Kings Co	nstrructio	n		
		P.O. Box				
		Oskaloos	sa, Ks. 66	6066		
	ollowing changes are being madriginal unit price bid items:	e to the ref	ferenced	construction	contract:that are	e not included in
Item						Net Change in Contract
No.	Description		Units	Unit Cost	Quantity (+/-)	Price (\$)
						\$0.00
						\$0.00
_						
Chan	ges to original unit price bid item	s are as fo	ollows:			,
Item			_			Net Change in Contract
No.	Description		Units	Unit Cost	Quantity (+/-)	Price (\$)
25	9" Asphalt Concrete Base Cours	e (May)	Ton	\$6.00	1693.84	\$10,163.04
25	9" Asphalt Concrete Base Cours	e (June)	Ton	\$11.50	2467	\$28,370.50
25	2" Asphalt Concrete Base Course	(August)	Ton	\$21.00	228.89	\$4,806.69
25	2" Asphalt Concrete Base Course (S	September)	Ton	\$20.00	567	\$11,340.00
25	2" Asphalt Concrete Base Course	(October)	Ton	\$16.00	1079.12	\$17,265.92
	Original Contract Amount Net Change by Previous Chang Net Change by This Change Or New Contract Amount	` '				\$1,457,591.30 \$58,361.93 \$71,946.15 \$1,587,899.38
	Original Contract Time or Comp Net Change by Previous Change Net Change by This Change Or New Contract Time or Completion	e Order(s) der				110 0 0 110
	Approved By:				Date [.]	
	Contractor				Duit.	
	Project Engineer				Date:	

	Project Number and Name	12-072-4	+U/(BD)			
	•	race, O'C	Connell Rd T	•		
	Change Order No	7		Date	10/15/2008	
	Contractor Name & Address	Kings Co		on		
		P.O. Box	188			
		Oskaloos	sa, Ks. 6	6066		
	ollowing changes are being madriginal unit price bid items:	e to the re	ferenced	construction	contract:that are	e not included in
Item					·.	Net Change in Contract
No.	Description		Units	Unit Cost	Quantity (+/-)	Price (\$)
91	Power For Light		L.S	\$575.00	. 1	\$575.00
						\$0.00
Chan	ges to original unit price bid item	s are as fo	ollows:			
Item						Net Change in Contract
No.	Description		Units	Unit Cost	Quantity (+/-)	Price (\$)
						\$0.00
						\$0.00
						\$0.00
						\$0.00
	Original Contract Amount Net Change by Previous Chang Net Change by This Change Or New Contract Amount					\$1,457,591.30 \$130,308.08 \$575.00 \$1,588,474.38
	Original Contract Time or Comp	letion Date	9			110
	Net Change by Previous Chang					0
	Net Change by This Change Or					0
	New Contract Time or Completic	on Date				110
	Approved By:				Date:	
	Contractor					
					Date:	
	Project Engineer					

12-CP2-407(BD)

Project Number and Name

No. Description Units Unit Cost Quantity (+/-) Price (\$) 91 Additional Site Work L.S \$2,660.00 1 \$2,660.00 Changes to original unit price bid items are as follows: Item No. Description Units Unit Cost Quantity (+/-) Price (\$) Original Contract Amount Net Change by Previous Change Order (S) New Contract Amount Original Contract Amount New Contract Amount S1,591,134.38 Original Contract Time or Completion Date New Change by Previous Change Order (S) New Change by This Change Order (S) New Change O							
P.O. Box 188 Oskaloosa, Ks. 66066 The following changes are being made to the referenced construction contract:that are not included in the original unit price bid items: Item No. Description Units Unit Cost Quantity (+/-) Price (\$) 91 Additional Site Work L.S \$2,660.00 1 \$2,660.00 Changes to original unit price bid items are as follows: Item No. Description Units Unit Cost Quantity (+/-) Price (\$) \$0.00 Changes to original unit price bid items are as follows: Item No. Description Units Unit Cost Quantity (+/-) Price (\$) \$0.00 \$0.00		Change Order No	8		Date	12/5/200	<u> 18</u>
The following changes are being made to the referenced construction contract:that are not included in the original unit price bid items: Item Description		Contractor Name & Address	P.O. Box	188			
the original unit price bid items: Item No. Description Units Unit Cost Quantity (+/-) Price (\$)			Oskaloos	a, Ks. 60	6066		_ _
No. Description Units Unit Cost Quantity (+/-) Price (\$) 91 Additional Site Work L.S \$2,660.00 1 \$2,660.00 Changes to original unit price bid items are as follows: Item			e to the ref	erenced	construction	contract:that	are not included in
Section Sect	Item						Net Change in Contract
Changes to original unit price bid items are as follows: Item No. Description Units Unit Cost Quantity (+/-) Net Change in Contract Price (\$) \$0.00	No.	Description		Units	Unit Cost	Quantity (+/	Price (\$)
Changes to original unit price bid items are as follows: Item No. Description Units Unit Cost Quantity (+/-) Price (\$)	91	Additional Site Work		L.S	\$2,660.00	1	\$2,660.00
Item No. Description Units Unit Cost Quantity (+/-) Price (\$) Summer of the price (\$) \$0.00 \$0.							\$0.00
Item No. Description Units Unit Cost Quantity (+/-) Price (\$) Summer of the price (\$) \$0.00 \$0.							
No. Description Units Unit Cost Quantity (+/-) Price (\$) \$0.00 \$0.		ges to original unit price bid item	s are as fo	llows:		Γ	
\$0.00 \$0.0		December the se		I I a Sta	Library Connect	0	_
\$0.00 \$0.00 \$0.00	NO.	Description		Units	Unit Cost	Quantity (+/	
\$0.00 \$0.00 \$0.00							
Original Contract Amount Net Change by Previous Change Order(s) Net Change by This Change Order New Contract Amount Original Contract Time or Completion Date Net Change by Previous Change Order(s) Net Change by Previous Change Order(s) Net Change by Previous Change Order New Contract Time or Completion Date Approved By: Date: Contractor Date:							
Original Contract Amount Net Change by Previous Change Order(s) Net Change by This Change Order New Contract Amount Original Contract Time or Completion Date Net Change by Previous Change Order(s) Net Change by Previous Change Order(s) Net Change by Previous Change Order New Contract Time or Completion Date Approved By: Date: Contractor Date:							
Net Change by Previous Change Order(s) Net Change by This Change Order New Contract Amount Original Contract Time or Completion Date Net Change by Previous Change Order(s) Net Change by Previous Change Order(s) Net Change by This Change Order New Contract Time or Completion Date Approved By: Date:							\$0.00
Net Change by Previous Change Order(s) Net Change by This Change Order New Contract Time or Completion Date Approved By: Contractor Date:		Net Change by Previous Chang Net Change by This Change Or	` ,				\$1,457,591.30 \$130,883.08 \$2,660.00 \$1,591,134.38
Contractor Date: Date:		Net Change by Previous Chang Net Change by This Change Or	e Order(s) der				110 0 0 110
Date:		Approved By:				Dat	e:
		Contractor					
		Project Engineer				Dal	-

	Project Number and Name	407(BD)				
		25 th Te	rrace, O'C	Connell Rd To	•	
	Change Order No	9	-	Date	12/5/2008	
	Contractor Name & Address		nstrructio	on		
		P.O. Box Oskaloos	sa, Ks. 6	6066	· · · · · · · · · · · · · · · · · · ·	
	ollowing changes are being made	e to the re	ferenced	construction	contract:that are	e not included in
Item		_				Net Change in Contract
No.	Description		Units	Unit Cost	Quantity (+/-)	Price (\$)
0	0		0	\$0.00	0	\$0.00
	,					\$0.00
Chan	ges to original unit price bid item	s are as fo	l			
Item						Net Change in Contract
No.	Description		Units	Unit Cost	Quantity (+/-)	Price (\$)
8	15" RCP		LF	28	-68	-\$1,904.00
22	2" Asphalt Surface Course		Ton	46.25	8.87	\$410.24
23	2" Apshalt Concrete (Commercia	l Grade)	Ton	\$51.00	38.42	\$1,959.42
25	9" Asphalt Concrete Base Co	urse	Ton	\$43.00	-665.53	-\$28,617.79
26	4" AB-3 (Detour)		Ton	\$15.00	4.88	\$73.20
49	Silt Fence		. L.F	\$1.30	-922	-\$1,198.60
51	Erosion Control Blanket		SY	\$6.50	-25	-\$162.50
68	8" Ductile Iron Pipe Waterline and	Fittings	L.F	\$29.00	-18	-\$522.00
74	2" Blowoff Assembly, In Place		EA .	\$350.00	-1	-\$350.00
75	Connection To Existing Wate	rline	EA	\$50.00	-3	-\$150.00
78	Asphalt Test Core 4" Diameter		EA	\$75.00	-6	-\$450.00
	Original Contract Amount Net Change by Previous Change	e Order(s)	ı			\$1,457,591.30 \$133,543.08
	Net Change by This Change Ord					-\$30,912.03
	New Contract Amount					\$1,560,222.35
	Original Contract Time or Comp					110
	Net Change by Previous Change	. ,				0
	Net Change by This Change Ord					0
	New Contract Time or Completic Approved By:	on Date				110
	O attached		•		Date:	
	Contractor					
					Date:	•

Project Engineer